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401 AIEHIZ 28I 98,500 100,000 A 1,500
01 A& Bl 98,500 100,000 A 1,500
ORo2 AU &stAlE X (20aEZ)
2 & 98,500,000& * 14 98,500 100,000 A 1,500
HERIZH(sEXJAN) 199,033 202,833 A 3,800
Jl23l 199,033 202,833 A 3,800
sEXNJ JI23H 185,635 188,935 A 3,300
201 L2l 142,925 143,825 A 900
01 At 22l 40,500 41,400 A 900
O[get=&dl] 9,100 10,000 A 900
ORAN2Y UM (20 MEZ)
2 & 9,100,000& * 14 9,100 10,000 A 900
202 04l 33,870 36,270 A 2,400
02 X 7,200 9,600 A 2,400
OSHAGA UL (20 AEZ)
Z & 200,000 = 321 = 12& 7,200 9,600 A 2,400
=23 JIedyl 13,398 13,898 A 500
201 Let2d] 9,350 9,850 A 500
01 At 22l 9,350 9,850 A 500
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SIEEEET 5,500 6,000 2500

ORNSY BUNM (2L
AH 5,500,008 * 14 5,500 6,000 A500




